
©f w2O0S2i0X vKruftGaK rSNoMfEtYwzaIrheK qLVL[Ct.I y OAQlqlo HrziLgjhdtLsL RrseWsletrnvtehdn.A M FMQafdxen mwciotPhZ `IpnJfhiSnSi[tieq gAmlxgzeAbTrzaA s1`.

Worksheet by Kuta Software LLC

Math 1

Unit 3.3 Solving systems using substitution Example
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Solve each system by substitution.

1)  y = 3x + 13
y = x + 3

2)  y = 5x + 9
y = -3x - 7

3)  y = -2x - 9
y = 5x - 2

4)  y = -8x - 3
y = -2x + 3

5)  y = 3x + 5
-6x + 2y = 10

6)  y = 3x + 9
3x + 6y = 12

7)  4x + 3y = 3
y = 4x + 1

8)  y = -2x - 5
-6x + 3y = 9
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9)  6x + 4y = 18
x + 2y = -1

10)  x + 3y = 15
-4x - 6y = -18

11)  -x - 7y = -3
x + 7y = 7

12)  -6x - 2y = -24
-2x + y = 2

13)  -7x - 5y = -24
3x - y = 4

14)  y = 1
-x + 7y = 0

15)  -2x + 3y = 1
2x - 5y = 9

16)  -2x + 5y = -6
3x + 6y = 9
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Solve each system by substitution.

1)  y = 3x + 13
y = x + 3

(-5, -2)

2)  y = 5x + 9
y = -3x - 7

(-2, -1)

3)  y = -2x - 9
y = 5x - 2

(-1, -7)

4)  y = -8x - 3
y = -2x + 3

(-1, 5)

5)  y = 3x + 5
-6x + 2y = 10

Infinite number of solutions

6)  y = 3x + 9
3x + 6y = 12

(-2, 3)

7)  4x + 3y = 3
y = 4x + 1

(0, 1)

8)  y = -2x - 5
-6x + 3y = 9

(-2, -1)
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9)  6x + 4y = 18
x + 2y = -1

(5, -3)

10)  x + 3y = 15
-4x - 6y = -18

(-6, 7)

11)  -x - 7y = -3
x + 7y = 7

No solution

12)  -6x - 2y = -24
-2x + y = 2

(2, 6)

13)  -7x - 5y = -24
3x - y = 4

(2, 2)

14)  y = 1
-x + 7y = 0

(7, 1)

15)  -2x + 3y = 1
2x - 5y = 9

(-8, -5)

16)  -2x + 5y = -6
3x + 6y = 9

(3, 0)


